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Is it possible for this statement to be true and yet f(2)= 3? Explain
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In this situation, is it possible that lim f{x) exists?
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a) Find lim /(x): DNE
b) Find lim f(x): 1
¢) Find lim f(x): /3

*] (3 Lh

i

4_.

ffx)

/ (’l,?)
. /
(«20D ] ’

2) Find lim f(x): g
b) Find l?ng @ |
c¢) Find EZIE f(x): DNg
d) Find lim f(x): Q
e) Find ll_g} f(x): é;}

f) Find legl f(x): é%

g) Find lim 7 (x): (5

h) Find %gral f(x): DNS@




Determine the following limits algebraically.
No Calculator.
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Determine the rollowing limits at mnnity.
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